

Line-Tec Inc

Bid Contact **Scott Ellsworth**
info@linetecinc.com
Ph 888-879-8708
Fax 561-279-1044

Address **1913 NW 18th St**
Pompano Beach, FL 33069

Item #	Line Item	Notes	Unit Price	Qty/Unit	Attch.	Docs
2018-050--01-01	General: Furnish and Install Water Service Connection from City Installed Meter to House	Supplier Product Code:	First Offer - \$375.00	25 / each	\$9,375.00	Y
2018-050--01-02	General: Furnish and Install 1 Schedule 40 PVC Water Pipe and Sod Restoration Over Trench	Supplier Product Code:	First Offer - \$7.50	1000 / linear foot	\$7,500.00	Y
2018-050--01-03	General: Furnish and Install 2 Corporation Stop and Saddle/Less than 4 in depth	Supplier Product Code:	First Offer - \$1,100.00	10 / each	\$11,000.00	Y
2018-050--01-04	General: Furnish and Install 2 Service Line with PVC casing	Supplier Product Code:	First Offer - \$23.00	100 / foot	\$2,300.00	Y
2018-050--01-05	General: Terminate/Abandon Existing Water Service	Supplier Product Code:	First Offer - \$225.00	25 / each	\$5,625.00	Y
2018-050--01-06	General: Furnish and Install 6 Gate Valve with Box	Supplier Product Code:	First Offer - \$1,050.00	25 / each	\$26,250.00	Y
2018-050--01-07	General: Furnish and Install 6 DIP Water Main (Installed with Fittings)	Supplier Product Code:	First Offer - \$53.00	250 / foot	\$13,250.00	Y
2018-050--01-08	General: Installation of Fire Hydrant Assembly with 6 Gate Valve Complete	Supplier Product Code:	First Offer - \$4,000.00	5 / each	\$20,000.00	Y
2018-050--01-09	General: Installation of Sample Points	Supplier Product Code:	First Offer - \$150.00	2 / each	\$300.00	Y

2018-050--01-10	General: Installation of Tapping Sleeves and Valves (Non- Paved Area)	Supplier Product Code:	First Offer - \$4,000.00	2 / each	\$8,000.00	Y
2018-050--01-11	General: Installation of Tapping Sleeves and Valves (Paved Area)	Supplier Product Code:	First Offer - \$4,100.00	2 / each	\$8,200.00	Y
2018-050--01-12	General: Installation or Replacement of 1 Meter Box and Lid	Supplier Product Code:	First Offer - \$150.00	50 / each	\$7,500.00	Y
2018-050--01-13	General: Replacement of a 1 Meter Lid	Supplier Product Code:	First Offer - \$65.00	50 / each	\$3,250.00	Y
2018-050--01-14	General: Replacement of a 1 Meter Box	Supplier Product Code:	First Offer - \$110.00	50 / each	\$5,500.00	Y
2018-050--01-15	General: Installation of 2 Meter Box and Lid	Supplier Product Code:	First Offer - \$250.00	25 / each	\$6,250.00	Y
2018-050--01-16	General: Replacement of 2 Meter Lid	Supplier Product Code:	First Offer - \$85.00	25 / each	\$2,125.00	Y
2018-050--01-17	General: Replacement of 2 Meter Box	Supplier Product Code:	First Offer - \$175.00	25 / each	\$4,375.00	Y
2018-050--01-18	General: Installation of an MIU Only	Supplier Product Code:	First Offer - \$20.00	25 / each	\$500.00	Y
2018-050--01-19	General: Installation of an MIU and a Register Exchange	Supplier Product Code:	First Offer - \$27.00	50 / each	\$1,350.00	Y
2018-050--01-20	General: Replacement of a 3/4 and 1 Register	Supplier Product Code:	First Offer - \$20.00	100 / each	\$2,000.00	Y
2018-050--01-21	General: Replacement of a 1 1/2 & 2 Register	Supplier Product Code:	First Offer - \$20.00	100 / each	\$2,000.00	Y
2018-050--01-22	General: Replacement of a Register 3, 4, 6, 8, 10, or 12 Register	Supplier Product Code:	First Offer - \$20.00	100 / each	\$2,000.00	Y
2018-050--01-23	General: Revisit of Failed Read Due to	Supplier Product Code:	First Offer - \$25.00	25 / each	\$625.00	Y

Outside Factors		Code:				
2018-050--01-24	General: Removal or Replacement of 3/4 Riser	Supplier Product Code:	First Offer - \$60.00	25 / each	\$1,500.00	Y
2018-050--01-25	General: Removal or Replacement of 1 Riser	Supplier Product Code:	First Offer - \$60.00	25 / each	\$1,500.00	Y
2018-050--01-26	General: Installation or Replacement of 3/4 Water Meter	Supplier Product Code:	First Offer - \$31.00	50 / each	\$1,550.00	Y
2018-050--01-27	General: Installation or Replacement of 1 Water Meter	Supplier Product Code:	First Offer - \$31.00	50 / each	\$1,550.00	Y
2018-050--01-28	General: Installation or Replacement of 1 1/2 Water Meter	Supplier Product Code:	First Offer - \$125.00	50 / each	\$6,250.00	Y
2018-050--01-29	General: Installation or Replacement of 2 Water Meter	Supplier Product Code:	First Offer - \$125.00	50 / each	\$6,250.00	Y
2018-050--01-30	General: Installation or Replacement of 3 Water Meter	Supplier Product Code:	First Offer - \$400.00	50 / each	\$20,000.00	Y
2018-050--01-31	General: Installation or Replacement of 4 Water Meter	Supplier Product Code:	First Offer - \$500.00	25 / each	\$12,500.00	Y
2018-050--01-32	General: Installation or Replacement of 6 Water Meter	Supplier Product Code:	First Offer - \$1,500.00	15 / each	\$22,500.00	Y
2018-050--01-33	General: Installation or Replacement of 8 Water Meter	Supplier Product Code:	First Offer - \$1,500.00	5 / each	\$7,500.00	Y
2018-050--01-34	General: Installation or Replacement of 10 Water Meter	Supplier Product Code:	First Offer - \$2,000.00	1 / each	\$2,000.00	Y
2018-050--01-35	General: Installation or Replacement of 12 Water Meter	Supplier Product Code:	First Offer - \$2,500.00	1 / each	\$2,500.00	Y
2018-050--01-36	General:	Supplier Product Code:	First Offer - \$1,600.00	1 / each	\$1,600.00	Y

Installation of 1 1/2
or 2 Custom Setter **Product**
Code:

2018-050--01-37	General: Additional Cost for Hand Digging Trench	Supplier Product Code: Supplier Notes: This is per linear foot	First Offer - \$8.00	250 / hour	\$2,000.00	Y
2018-050--01-38	General: Additional Cost for Restoration of Asphalt Driveways	Supplier Product Code: Supplier Notes: This is per square foot not hours	First Offer - \$15.50	500 / hour	\$7,750.00	Y
2018-050--01-39	General: Additional Cost for Restoration of Concrete Driveways/Sidewalk	Supplier Product Code: Supplier Notes: This is per square foot not hours	First Offer - \$17.00	500 / hour	\$8,500.00	Y
2018-050--01-40	General: Hourly Rates for Personnel Not Otherwise Identified	Supplier Product Code:	First Offer - \$65.00	100 / each	\$6,500.00	Y
2018-050--01-41	General: Hourly Rate for Trencher	Supplier Product Code:	First Offer - \$50.00	100 / each	\$5,000.00	Y
2018-050--01-42	General: Hourly Rate for Backhoe	Supplier Product Code:	First Offer - \$155.00	100 / each	\$15,500.00	Y
2018-050--01-43	General: Hourly Rate for Boring Machine	Supplier Product Code:	First Offer - \$50.00	100 / each	\$5,000.00	Y
2018-050--01-44	General: Additional Vegetative	Supplier Product	First Offer - \$25.00	1 / each	\$25.00	Y

Restoration (Bidders Code:
cost plus percent;
may require Bidder

Lot Total \$286,750.00

Item #	Line Item	Notes	Unit Price	Qty/Unit	Attch.	Docs
2018-050--02-01	Residential Water Service: Furnish and Install 1 1/4" SCH 40 PVC Water Service Pipe	Supplier Product Code:	First Offer - \$8.50	2000 / linear foot	\$17,000.00	Y
2018-050--02-02	Residential Water Service: Furnish and Install 1 1/2" SCH 40 PVC Water Service Pipe	Supplier Product Code:	First Offer - \$9.00	250 / linear foot	\$2,250.00	Y
2018-050--02-03	Residential Water Service: Furnish and Install 2" SCH 40 PVC Water Service Pipe	Supplier Product Code:	First Offer - \$10.00	500 / linear foot	\$5,000.00	Y
2018-050--02-04	Residential Water Service: Reconnect Existing Sprinkler Connection at House	Supplier Product Code:	First Offer - \$75.00	25 / each	\$1,875.00	Y
2018-050--02-05	Residential Water Service: Installation of New Hose Bib	Supplier Product Code:	First Offer - \$25.00	25 / each	\$625.00	Y
2018-050--02-06	Residential Water Service: Replacement	Supplier Product Code:	First Offer - \$100.00	25 / each	\$2,500.00	Y

of House
Isolation
Valve

2018-050--02-07	Residential Water Service: Installation of Vacuum Breaker on hose bib	Supplier Product Code:	First Offer - \$15.00	25 / each	\$375.00	Y
-----------------	---	------------------------	-----------------------	-----------	----------	---

2018-050--02-08	Residential Water Service: Relocate Existing 3/4" or 1" RPZ backflow	Supplier Product Code:	First Offer - \$175.00	15 / each	\$2,625.00	Y
-----------------	--	------------------------	------------------------	-----------	------------	---

2018-050--02-09	Residential Water Service: Relocate Existing 1 1/2" or 2" RPZ backflow	Supplier Product Code:	First Offer - \$225.00	15 / each	\$3,375.00	Y
-----------------	--	------------------------	------------------------	-----------	------------	---

Lot Total \$35,625.00

Item #	Line Item	Notes	Unit Price	Qty/Unit	Attach. Docs
2018-050--03-01	Water Service: Furnish and Install 1" Corporation Stop and Saddle Less Than 4" in Depth	Supplier Product Code:	First Offer - \$850.00	25 / each	Y
2018-050--03-02	Water Service: Furnish and Install 1 1/2" Corporation Stop and Saddle Less Than 4" in Depth	Supplier Product Code:	First Offer - \$975.00	10 / each	Y
2018-050--03-03	Water Service: Installation of 2" RS Gate Valve and Saddle, Complete with Valve Box	Supplier Product Code:	First Offer - \$425.00	25 / each	Y
2018-050--03-04	Water Service: Installation of	Supplier Product Code:	First Offer - \$17.00	100 / each	Y

2½ P.E. Service **Code:**
 Line without **Supplier**
 Casing for Short **Notes:**
 Side This is
 per linear
 foot not
 each

2018-050--03-05	Water Service: Installation of 1½ P.E. Service Line without Casing for Short Side	Supplier Product Code: Supplier Notes: This is per linear foot not each	First Offer - \$13.00	250 / each	\$3,250.00	Y
-----------------	---	---	------------------------------	------------	-------------------	----------

2018-050--03-06	Water Service: Installation of 1½ P.E. Service Line with Casing for Short Side	Supplier Product Code: Supplier Notes: THIS is per linear foot not each	First Offer - \$15.50	100 / each	\$1,550.00	Y
-----------------	--	---	------------------------------	------------	-------------------	----------

2018-050--03-07	Water Service: Installation of 1½ Ball Meter, Yoke Bar and Tail Piece	Supplier Product Code:	First Offer - \$425.00	2 / each	\$850.00	Y
-----------------	---	-------------------------------	-------------------------------	----------	-----------------	----------

2018-050--03-08	Water Service: Installation of 1 1/2 Ball Meter, Yoke Bar and Tail Piece	Supplier Product Code:	First Offer - \$475.00	2 / each	\$950.00	Y
-----------------	--	-------------------------------	-------------------------------	----------	-----------------	----------

2018-050--03-09	Water Service: Installation of 2½ Ball Meter, Yoke Bar and Tail Piece	Supplier Product Code:	First Offer - \$500.00	2 / each	\$1,000.00	Y
-----------------	---	-------------------------------	-------------------------------	----------	-------------------	----------

Lot Total \$50,925.00

Item #	Line Item	Notes	Unit Price	Qty/Unit	Attch.	Docs
2018-050--04-01	Water Main: Installation	Supplier Product Code:	First Offer - \$33.00	200 / linear foot	\$6,600.00	Y

	of 4" Schedule 40 C900 PVC with Fittings					
2018-050--04-02	Water Main: Installation of 6" Schedule 40 C900 PVC with Fittings	Supplier Product Code:	First Offer - \$41.00	400 / linear foot	\$16,400.00	Y
2018-050--04-03	Water Main: Installation of 8" Schedule 40 C900 PVC with Fittings	Supplier Product Code:	First Offer - \$45.00	100 / linear foot	\$4,500.00	Y
2018-050--04-04	Water Main: Installation of 4" Schedule 40 CL350 DI with Fittings	Supplier Product Code:	First Offer - \$48.00	100 / linear foot	\$4,800.00	Y
2018-050--04-05	Water Main: Installation of 8" Schedule 40 CL350 DI with Fittings	Supplier Product Code:	First Offer - \$56.00	100 / linear foot	\$5,600.00	Y
2018-050--04-06	Water Main: Installation of Fire Hydrant with Materials	Supplier Product Code:	First Offer - \$3,200.00	15 / each	\$48,000.00	Y
2018-050--04-07	Water Main: Installation of 2 Blow Off Assembly	Supplier Product Code:	First Offer - \$250.00	2 / each	\$500.00	Y
2018-050--04-08	Water Main: Installation of 4 Gate Valve with Box	Supplier Product Code:	First Offer - \$975.00	5 / each	\$4,875.00	Y

2018-050--04-09	Water Main: Installation of 8 Gate Valve with Box	Supplier Product Code:	First Offer - \$1,550.00	2 / each	\$3,100.00	Y
2018-050--04-10	Water Main: Density Testing, Cost per Site	Supplier Product Code:	First Offer - \$65.00	10 / each	\$650.00	Y
2018-050--04-11	Water Main: Proctor Testing, Cost per Site	Supplier Product Code:	First Offer - \$100.00	5 / each	\$500.00	Y
2018-050--04-12	Water Main: Restoration of Asphalt Roadway w/6 Rock/1 1/2 Asphalt (Greater than 100 SQ FT)	Supplier Product Code:	First Offer - \$17.50	1000 / square foot	\$17,500.00	Y
2018-050--04-13	Water Main: Restoration of Asphalt Roadway w/6 Rock/1 1/2 Asphalt (Up to 100 SQ FT)	Supplier Product Code:	First Offer - \$18.50	1000 / square foot	\$18,500.00	Y
2018-050--04-14	Water Main: Engineering Fees (Bidders cost plus percent; may require Bidders invoice for ver	Supplier Product Code:	First Offer - \$15.00	1 / each	\$15.00	Y

Lot Total \$131,540.00

Item #	Line Item	Notes	Unit Price	Qty/Unit	Attach.	Docs
--------	-----------	-------	------------	----------	---------	------

2018-050--05-01	Reuse Water Service: Furnish and Install 1 SCH 40 PVC Reuse (Purple) Service Pipe	Supplier Product Code:	First Offer - \$7.50	5000 / linear foot	\$37,500.00	Y
2018-050--05-02	Reuse Water Service: Furnish and Install 1-1/4 SCH 40 PVC Reuse (Purple) Service Pipe	Supplier Product Code:	First Offer - \$8.50	2500 / linear foot	\$21,250.00	Y
2018-050--05-03	Reuse Water Service: Furnish and Install 1 1/2 SCH 40 PVC Reuse (Purple) Service Pipe	Supplier Product Code:	First Offer - \$9.00	2500 / linear foot	\$22,500.00	Y
2018-050--05-04	Reuse Water Service: Furnish and Install 2 SCH 40 PVC Reuse (Purple) Service Pipe	Supplier Product Code:	First Offer - \$10.00	1000 / linear foot	\$10,000.00	Y
2018-050--05-05	Reuse Water Service: Reconnect Existing Sprinkler Connection at the House	Supplier Product Code:	First Offer - \$450.00	50 / each	\$22,500.00	Y
2018-050--05-06	Reuse Water Service: Installation	Supplier Product Code:	First Offer - \$50.00	10 / each	\$500.00	Y

of New
Hose Bib
Marked
Reuse

2018-050--05-07	Reuse Water Service: Installation of 5/8 or 3/4 Check Valve on House Line	Supplier Product Code:	First Offer - \$175.00	25 / each	\$4,375.00	Y
2018-050--05-08	Reuse Water Service: Installation of 1 Check Valve on House Line	Supplier Product Code:	First Offer - \$175.00	50 / each	\$8,750.00	Y
2018-050--05-09	Reuse Water Service: Installation of 1-1/4 Check Valve on House Line	Supplier Product Code:	First Offer - \$175.00	5 / each	\$875.00	Y
2018-050--05-10	Reuse Water Service: Installation of 1 1/2 Check Valve on House Line	Supplier Product Code:	First Offer - \$250.00	10 / each	\$2,500.00	Y
2018-050--05-11	Reuse Water Service: Installation of 2 Check Valve on House Line	Supplier Product Code:	First Offer - \$250.00	10 / each	\$2,500.00	Y
					Lot Total	\$133,250.00
Item #	Line Item	Notes	Unit Price	Qty/Unit	Attch.	Docs
2018-050--06-01	Water Meter and Backflow Service: Installation of 5/8 or 3/4 Check Valve on Customers Line	Supplier Product Code:	First Offer - \$175.00	25 / each	\$4,375.00	Y

2018-050--06-02	Water Meter and Backflow Service: Installation of 1 Check Valve on Customers Line	Supplier Product Code:	First Offer - \$175.00	25 / each	\$4,375.00	Y
2018-050--06-03	Water Meter and Backflow Service: Installation of 1-1/4 Check Valve on Customers Line	Supplier Product Code:	First Offer - \$175.00	5 / each	\$875.00	Y
2018-050--06-04	Water Meter and Backflow Service: Installation of 1 1/2 Check Valve on Customers Line	Supplier Product Code:	First Offer - \$250.00	25 / each	\$6,250.00	Y
2018-050--06-05	Water Meter and Backflow Service: Installation of 2 Check Valve on Customers Line	Supplier Product Code:	First Offer - \$250.00	25 / each	\$6,250.00	Y
2018-050--06-06	Water Meter and Backflow Service: Installation of 3/4 - 1 RPZ Backflow	Supplier Product Code:	First Offer - \$800.00	10 / each	\$8,000.00	Y
2018-050--06-07	Water Meter and Backflow Service: Installation of 1 1/2 - 2 RPZ Backflow	Supplier Product Code:	First Offer - \$1,500.00	10 / each	\$15,000.00	Y
2018-050--06-08	Water Meter and Backflow Service: Testing New or Existing RPZ Backflow 3/4 - 1	Supplier Product Code:	First Offer - \$55.00	25 / each	\$1,375.00	Y
2018-050--06-09	Water Meter and Backflow Service: Testing New or Existing RPZ Backflow 1-1/4 - 2	Supplier Product Code:	First Offer - \$55.00	25 / each	\$1,375.00	Y
2018-050--06-10	Water Meter	Supplier	First Offer - \$90.00	25 / each	\$2,250.00	Y

and Backflow
 Service: Repair
 Existing 3/4-2
Backflow
Product Code:
Supplier
Notes:
 This is
 cost per
 hour

2018-050--06-11	Water Meter and Backflow Service: Backflow Repair Parts Not Otherwise Identified (Bidders cost plus percent; may r	Supplier Product Code:	First Offer - \$25.00	1 / each	\$25.00	Y
-----------------	---	-------------------------------	------------------------------	----------	----------------	----------

Lot Total \$50,150.00

Item #	Line Item	Notes	Unit Price	Qty/Unit	Attch. Docs
2018-050--07-01	Directional Pipe Boring: 1/2 - 1 Schedule 40 PVC Casing Pipe Directional Boring	Supplier Product Code:	First Offer - \$10.00	100 / linear foot	\$1,000.00 Y
2018-050--07-02	Directional Pipe Boring: 1-1/4 - 1 1/2 SCH 40 PVC Casing Pipe Directional Boring	Supplier Product Code:	First Offer - \$11.50	500 / linear foot	\$5,750.00 Y
2018-050--07-03	Directional Pipe Boring: 2 SCH 40 PVC Casing Pipe Directional Boring	Supplier Product Code:	First Offer - \$13.00	1000 / linear foot	\$13,000.00 Y
2018-050--07-04	Directional Pipe Boring: 2 1/2 SCH 40 PVC Casing Pipe Directional Boring	Supplier Product Code:	First Offer - \$16.50	500 / linear foot	\$8,250.00 Y
2018-050--07-05	Directional Pipe Boring: 3 SCH 40 PVC Casing Pipe	Supplier Product Code:	First Offer - \$19.50	100 / linear foot	\$1,950.00 Y

Item #	Line Item	Notes	Unit Price	Qty/Unit	Lot Total	Attch.	Docs
	Directional Boring						
2018-050--07-06	Directional Pipe Boring: Pot Holding To Locate Existing Utilities	Supplier Product Code:	First Offer - \$50.00	250 / each	\$12,500.00		Y
2018-050--07-07	Directional Pipe Boring: Additional Cost Per Foot For Schedule 80 Pipe Item # 94-98.	Supplier Product Code:	First Offer - \$1.25	2250 / linear foot	\$2,812.50		Y
					Lot Total	\$45,262.50	
Item #	Line Item	Notes	Unit Price	Qty/Unit	Lot Total	Attch.	Docs
2018-050--08-01	Fire Hydrant Maintenane and Repair: Fire Hydrant Flush (Only)	Supplier Product Code:	First Offer - \$16.00	3000 / each	\$48,000.00		Y
2018-050--08-02	Fire Hydrant Maintenane and Repair: Fire Hydrant Flow Test, Pressure Test and Nozzle Lubrication	Supplier Product Code:	First Offer - \$25.00	3000 / each	\$75,000.00		Y
2018-050--08-03	Fire Hydrant Maintenane and Repair: Additional Cost for Fire Hydrant Flowtest W/Residual Test	Supplier Product Code:	First Offer - \$50.00	3000 / each	\$150,000.00		Y
2018-050--08-04	Fire Hydrant Maintenane and Repair: Fire Hydrant Audit (Includes Audit, Maintenance of Hydrant Only)	Supplier Product Code:	First Offer - \$45.00	3000 / each	\$135,000.00		Y
2018-050--08-05	Fire Hydrant Maintenane and Repair:	Supplier Product Code:	First Offer - \$55.00	3000 / each	\$165,000.00		Y

Fire Hydrant Painting, Wire and Scrape						
2018-050--08-06	Fire Hydrant Maintenane and Repair: Painting of Fire Hydrant Bollards	Supplier Product Code:	First Offer - \$12.00	100 / each	\$1,200.00	Y
2018-050--08-07	Fire Hydrant Maintenane and Repair: Upper Barrel Repair on Existing Fire Hydrant	Supplier Product Code:	First Offer - \$425.00	50 / each	\$21,250.00	Y
2018-050--08-08	Fire Hydrant Maintenane and Repair: Lower Barrel Repair on Existing Fire Hydrant	Supplier Product Code:	First Offer - \$650.00	10 / each	\$6,500.00	Y
2018-050--08-09	Fire Hydrant Maintenane and Repair: Installation of Traffic Repair Kit	Supplier Product Code:	First Offer - \$650.00	25 / each	\$16,250.00	Y
2018-050--08-10	Fire Hydrant Maintenane and Repair: Installation of 6 Fire Hydrant Extension	Supplier Product Code:	First Offer - \$750.00	5 / each	\$3,750.00	Y
2018-050--08-11	Fire Hydrant Maintenane and Repair: Installation of 12 Fire Hydrant Extension	Supplier Product Code:	First Offer - \$800.00	5 / each	\$4,000.00	Y
2018-050--08-12	Fire Hydrant Maintenane and Repair: Installation of 18 Fire Hydrant Extension	Supplier Product Code:	First Offer - \$850.00	5 / each	\$4,250.00	Y
2018-050--08-13	Fire Hydrant Maintenane and Repair: Installation of	Supplier Product Code:	First Offer - \$925.00	5 / each	\$4,625.00	Y

24 Fire Hydrant Extension						
2018-050--08-14	Fire Hydrant Maintenane and Repair: Installation of Blue Reflective Road Marker	Supplier Product Code:	First Offer - \$8.00	2000 / each	\$16,000.00	Y
2018-050--08-15	Fire Hydrant Maintenane and Repair: Installation of Metal Hydrant ID Tag	Supplier Product Code:	First Offer - \$4.00	3000 / each	\$12,000.00	Y
2018-050--08-16	Fire Hydrant Maintenane and Repair: Installation of Fire Hydrant Security System	Supplier Product Code:	First Offer - \$12.00	3000 / each	\$36,000.00	Y
2018-050--08-17	Fire Hydrant Maintenane and Repair: Installation of Fire Hydrant Security System with Flow Test	Supplier Product Code:	First Offer - \$27.00	3000 / each	\$81,000.00	Y
2018-050--08-18	Fire Hydrant Maintenane and Repair: Installation of Fire Hydrant Security System	Supplier Product Code:	First Offer - \$12.00	100 / each	\$1,200.00	Y
2018-050--08-19	Fire Hydrant Maintenane and Repair: Installation of 6 Inline Fire Hydrant Check Valve	Supplier Product Code:	First Offer - \$1,700.00	10 / each	\$17,000.00	Y
2018-050--08-20	Fire Hydrant Maintenane and Repair: Hydrant Materials Not Otherwise Identified (Bidders cost plus percent;	Supplier Product Code:	First Offer - \$20.00	1 / each	\$20.00	Y

may requi

2018-050--08-21	Fire Hydrant Maintenane and Repair: Replacement of Existing Fire Hydrant Utilizing Existing Isolation Valve	Supplier Product Code:	First Offer - \$3,200.00	25 / each	\$80,000.00	Y
2018-050--08-22	Fire Hydrant Maintenane and Repair: Relocation of Existing Fire Hydrant Utilizing Existing Isolation Valve	Supplier Product Code:	First Offer - \$2,000.00	10 / each	\$20,000.00	Y
Lot Total					\$898,045.00	
Item #	Line Item	Notes	Unit Price	Qty/Unit	Attch.	Docs
2018-050--09-01	Valve Maintenance and Repair: Valve Audit (Includes Audit, Maintenance, Valve Exercise)	Supplier Product Code:	First Offer - \$50.00	8600 / each	\$430,000.00	Y
2018-050--09-02	Valve Maintenance and Repair: Valve Tag (Brass)	Supplier Product Code:	First Offer - \$25.00	8600 / each	\$215,000.00	Y
2018-050--09-03	Valve Maintenance and Repair: Valve Exercise Only (No Audit)	Supplier Product Code:	First Offer - \$40.00	1500 / each	\$60,000.00	Y
2018-050--09-04	Valve Maintenance and Repair: Install New Valve Box in Grass Area	Supplier Product Code:	First Offer - \$200.00	250 / each	\$50,000.00	Y
2018-050--09-05	Valve Maintenance and Repair: Install New Valve Box in	Supplier Product Code:	First Offer - \$200.00	150 / each	\$30,000.00	Y

Asphalt						
2018-050--09-06	Valve Maintenance and Repair: Raise Valve Box in Grass Area	Supplier Product Code:	First Offer - \$80.00	500 / each	\$40,000.00	Y
2018-050--09-07	Valve Maintenance and Repair: Raise Valve Box in Asphalt	Supplier Product Code:	First Offer - \$125.00	75 / each	\$9,375.00	Y
2018-050--09-08	Valve Maintenance and Repair: Installation of Valve Box Riser 1 - 2	Supplier Product Code:	First Offer - \$30.00	100 / each	\$3,000.00	Y
2018-050--09-09	Valve Maintenance and Repair: Installation of Concrete Valve Pad	Supplier Product Code:	First Offer - \$225.00	100 / each	\$22,500.00	Y
2018-050--09-10	Valve Maintenance and Repair: Asphalt Patch Around Existing Valve Box	Supplier Product Code:	First Offer - \$225.00	150 / each	\$33,750.00	Y
2018-050--09-11	Valve Maintenance and Repair: Vaccuum Out Debris From Valve Box	Supplier Product Code:	First Offer - \$33.00	8600 / each	\$283,800.00	Y
2018-050--09-12	Valve Maintenance and Repair: Excavation of a Depth of Less Than 4	Supplier Product Code:	First Offer - \$600.00	250 / each	\$150,000.00	Y
2018-050--09-13	Valve Maintenance and Repair: Excavation of a Depth of 4 to 7 Without Wellpoints	Supplier Product Code:	First Offer - \$900.00	100 / each	\$90,000.00	Y

Item #	Line Item	Notes	Unit Price	Qty/Unit	Lot Total	Attch. Docs
2018-050--10-01	Emergency Repair, Equipment, and Restoration: Hourly Rate for Superintendent	Supplier Product Code:	First Offer - \$105.00	250 / each	\$26,250.00	Y
2018-050--10-02	Emergency Repair, Equipment, and Restoration: Hourly Rate for Foreman	Supplier Product Code:	First Offer - \$85.00	250 / each	\$21,250.00	Y
2018-050--10-03	Emergency Repair, Equipment, and Restoration: Hourly Rate for Pipe Layer	Supplier Product Code:	First Offer - \$65.00	250 / each	\$16,250.00	Y
2018-050--10-04	Emergency Repair, Equipment, and Restoration: Hourly Rate for Plate Compactor	Supplier Product Code:	First Offer - \$15.00	50 / each	\$750.00	Y
2018-050--10-05	Emergency Repair, Equipment, and Restoration: Hourly Rate for 3½ Pump	Supplier Product Code:	First Offer - \$15.00	50 / each	\$750.00	Y
2018-050--10-06	Emergency Repair, Equipment, and Restoration: Hourly Rate for Valve Excise Machine with Vacuum	Supplier Product Code:	First Offer - \$100.00	500 / each	\$50,000.00	Y
2018-050--10-07	Emergency Repair, Equipment, and Restoration: Hourly Rate for Utility Truck	Supplier Product Code:	First Offer - \$15.00	500 / each	\$7,500.00	Y
2018-050--10-08	Emergency Repair, Equipment, and Restoration:	Supplier Product Code:	First Offer - \$155.00	100 / each	\$15,500.00	Y

Hourly Rate for Excavator						
2018-050--10-09	Emergency Repair, Equipment, and Restoration: Hourly Rate for Skidsteer	Supplier Product Code:	First Offer - \$125.00	100 / each	\$12,500.00	Y
2018-050--10-10	Emergency Repair, Equipment, and Restoration: Sod Restoration	Supplier Product Code:	First Offer - \$2.50	5000 / square foot	\$12,500.00	Y
2018-050--10-11	Emergency Repair, Equipment, and Restoration: Traffic Cones	Supplier Product Code:	First Offer - \$5.00	250 / each	\$1,250.00	Y
2018-050--10-12	Emergency Repair, Equipment, and Restoration: Type I,II,III Barricades	Supplier Product Code:	First Offer - \$6.00	100 / each	\$600.00	Y
2018-050--10-13	Emergency Repair, Equipment, and Restoration: Work Zone Signs	Supplier Product Code:	First Offer - \$20.00	50 / each	\$1,000.00	Y
2018-050--10-14	Emergency Repair, Equipment, and Restoration: Arrow Board	Supplier Product Code:	First Offer - \$200.00	10 / each	\$2,000.00	Y
2018-050--10-15	Emergency Repair, Equipment, and Restoration: Materials Not Otherwise Identified (Bidders cost plus percent; may require Bidde	Supplier Product Code:	First Offer - \$20.00	1 / each	\$20.00	Y
Lot Total					\$168,120.00	
Supplier Total					\$3,217,092.50	

Supplier: **Line-Tec Inc**

BID/PROPOSAL SUBMITTAL

This form is part of your original Bid/Proposal submittal package. Please also attach any additional information or documentation requested in this solicitation. There is no need to include the informational sections of this solicitation in your Bid/Proposal submittal package.

INSTRUCTIONS

Sealed Bids/Proposals must be received on or before the due date and time (local time) via electronic submission at www.bidsync.com, or via hard copy at the City of Delray Beach City Hall Front Lobby Reception Desk, 100 N.W. 1st Avenue, Delray Beach, Florida 33444. Normal City business hours are 8:00 AM to 5:00 PM, Monday through Friday, except holidays. **All Bids/Proposals will be publicly opened** at City Hall unless otherwise specified.

Each hard copy Bid/Proposal submitted to the City shall have the following information clearly marked on the face of the envelope: Bidder's/Proposer's name, return address, solicitation number, due date for Bids/Proposals, and the title of the solicitation. If the Solicitation Summary is not included in the package, the City may deem the Bid/Proposal non-responsive. Bids/Proposals must contain all information required to be included in the submittal, as described in this Solicitation.

Solicitation No.: **2018-50**

Solicitation Title: **Water Service Connection and Restoration**

Due Date and Time: **09/19/2018 @ 2:00 PM**

Line-Tec Inc

Name of Bidder/Proposer

Supplier: **Line-Tec Inc**

ACKNOWLEDEMENT OF ADDENDA

INSTRUCTIONS COMPLET PART I OR PART II, WHICHEVER APPLIES

PART I

List below that dates of issue for addendum received in connection with this solicitation.

Addendum #1, Dated	9/11/2018
Addendum #2, Dated	
Addendum #3, Dated	
Addendum #4, Dated	
Addendum #5, Dated	
Addendum #6, Dated	
Addendum #7, Dated	
Addendum #8, Dated	
Addendum #9, Dated	
Addendum #10, Dated	

PART II

NO ADDENDUM WAS RECEIVE IN CONNECTION WITH THE SOLICATION

Line-Tec Inc
Frim Name

Scott Ellsworth
Signature

Scott Ellsworth president
Name and Title

09/17/2018
Date

Supplier: **Line-Tec Inc**

SUBMITTAL SIGNATURE PAGE

By signing this document, the Bidder/Proposer certifies that it satisfies all legal requirements as an entity to do business with the City, including all Conflict of Interest and Code of Ethics provisions.

Firm Name: **Line-Tec Inc**

Street Address: **241 NW 18th Avenue**

Mailing Address (if different from Street Address):

Telephone Number(s): **5612791032**

Fax Number(s): **5612791044**

Email Address: **scott@linetecinc.com**

Federal Employer Identification Number: **650847861**

Prompt Payment Terms: % **Line-Tec Scott Ellsworth** days' net **30** days

Signature: **Scott Ellsworth**

(Signature of authorized agent)

Print Name: **Scott Ellsworth**

Title: **President**

Date: **9/17/2018**

By signing this document, the Bidder/Proposer agrees to all terms and conditions of this solicitation and the resulting contract/agreement.

THE EXECUTION OF THIS FORM CONSTITUTES THE UNEQUIVOCAL OFFER OF BIDDER/PROPOSER TO BE BOUND BY THE TERMS OF ITS BID/PROPOSAL, FOR NOT LESS THAN 90 DAYS, AND THE BIDDER'S/PROPOSER'S UNEQUIVOCAL OFFER TO BE BOUND BY THE TERMS AND CONDITIONS SET FORTH IN THIS SOLICITATION. FAILURE TO SIGN THIS SOLICITATION WHERE INDICATED ABOVE, BY AN AUTHORIZED REPRESENTATIVE, SHALL RENDER THE BID/PROPOSAL NON-RESPONSIVE. THE CITY MAY, HOWEVER, IN ITS SOLE DISCRETION, ACCEPT ANY BID/PROPOSAL THAT INCLUDES AN EXECUTED DOCUMENT WHICH UNEQUIVOCALLY BINDS THE BIDDER/PROPOSER TO THE TERMS OF ITS BID/PROPOSAL.

Supplier: **Line-Tec Inc**

CONFLICT OF INTEREST DISCLOSURE FORM

The award of this contract is subject to the provisions of Chapter 112, *Florida Statutes*. All Bidders/Proposers must disclose within their Bid/Proposal: the name of any officer, director, or agent who is also an employee of the City of Delray Beach.

Furthermore, all Bidders/Proposers must disclose the name of any City employee who owns, directly or indirectly, an interest of more than five percent (5%) in the Bidder's/Proposer's firm or any of its branches.

The purpose of this disclosure form is to give the City the information needed to identify potential conflicts of interest for evaluation team members and other key personnel involved in the award of this contract.

The term "conflict of interest" refers to situations in which financial or other personal considerations may adversely affect, or have the appearance of adversely affecting, an employee's professional judgment in exercising any City duty or responsibility in administration, management, instruction, research, or other professional activities.

Please check one of the following statements and attach additional documentation if necessary:

- To the best of our knowledge, the undersigned firm has no potential conflict of interest due to any other Cities, Counties, contracts, or property interest for this Bid/Proposal.
- The undersigned firm, by attachment to this form, submits information which may be a potential conflict of interest due to other Cities, Counties, contracts, or property interest for this Bid/Proposal.

Acknowledged by:

Line-Tec Inc
Firm Name

Scott Ellsworth
Signature

Scott Ellsworth
Name and Title

9/17/2018
Date

Supplier: Line-Tec Inc

NOTIFICATION OF PUBLIC ENTITY CRIMES LAW

Pursuant to Section 287.133, *Florida Statutes*, you are hereby notified that a person or affiliate who has been placed on the convicted contractors list following a conviction for a public entity crime may not submit a Bid/Proposal on a contract to provide any goods or services to a public entity; may not submit a Bid/Proposal on a contract with a public entity for the construction or repair of a public building or public work; may not submit Bids/Proposals on leases or real property to a public entity; may not be awarded or perform work as a contractor, supplier, sub-Bidder/sub-Proposer, or consultant under a contract with any public entity; and may not transact business with any public entity in excess of the threshold amount provided in Section 287.017 [F.S.] for Category Two [\$35,000.00] for a period of thirty-six (36) months from the date of being placed on the convicted contractors list.

Acknowledged by:

Line-Tec Inc

Firm Name

Scott Ellsworth

Signature

Scott Ellsworth president

Name and Title

9/17/2018

Date

Supplier: Line-Tec Inc

Notification of Public Records Law Pertaining to Public Contracts and Requests for Contractor Records Pursuant to Chapter 119, *Florida Statutes*

Pursuant to Chapter 119, *Florida Statutes*, Contractor shall comply with the public records law by keeping and maintaining public records required by the City of Delray Beach in order to perform the service. Upon request from the City of Delray Beach' custodian of public records, contract shall provide the City of Delray Beach with a copy of the requested records or allow the records to be inspected or copied within a reasonable time at a cost that does not exceed the cost provided in Chapter 119, *Florida Statutes* or as otherwise provided by law. Contractor shall ensure that public records that are exempt or confidential and exempt from public records disclosure requirements are not disclosed except as authorized by law for the duration of the contract term and following completion of the contract. If the Contractor does not transfer the records to the City of Delray Beach. Contractor upon completion of the contract, shall transfer, at no cost, to the City of Delray Beach all public records in possession of the Contractor or keep and maintain public records required by the City of Delray Beach in order to perform the service. If the Contractor transfers all public records to the City of Delray Beach upon completion of the contract, the Contractor shall destroy any duplicate public records that are exempt or confidential and exempt from public records disclosure requirements. If the Contractor keeps and maintains public records upon completion of the contract, the Contractor shall meet all applicable requirements for retaining public records. All records stored electronically must be provided to the City of Delray Beach, upon request from the City of Delray Beach' custodian of public records, in a format that is compatible with the information technology systems of the City of Delray Beach.

IF THE SELECTED BIDDER/PROPOSER HAS QUESTIONS REGARDING THE APPLICATION OF CHAPTER 119, FLORIDA STATUTES, TO THE SELECTED BIDDER'S/PROPOSER'S DUTY TO PROVIDE PUBLIC RECORDS RELATING TO THIS AGREEMENT, CONTACT THE CUSTODIAN OF PUBLIC RECORDS AT CITY OF DELRAY BEACH, CITY CLERK, 100 N.W. 1ST AVE., DELRAY BEACH FLORIDA. THE CITY CLERK'S OFFICE MAY BE CONTACTED BY PHONE AT 561-243-7050 OR VIA EMAIL AT CITYCLERK@MYDELRAYBEACH.COM.

Acknowledged:

Line-Tec Inc

Firm Name

Scott Ellsworth

Signature

Scott Ellsworth president

Name and Title (Print or Type)

9/17/2018

Date

Supplier: **Line-Tec Inc**

DRUG-FREE WORKPLACE

Line-Tec Inc is a drug-free workplace and has
(Company Name)
a substance abuse policy in accordance with and pursuant to Section 440.102, *Florida Statutes*.

Acknowledged by:

Line-Tec Inc
Firm Name

Scott Ellsworth
Signature

Scott Ellsworth president
Name and Title

9/17/2018
Date

Supplier: Line-Tec Inc

NON-COLLUSION AFFIDAVIT

STATE OF **Florida**

COUNTY OF **Palm Beach**

Before me, the undersigned authority, personally appeared **Scott Ellsworth**, who, after being by me first duly sworn, deposes and says of his/her personal knowledge that:

- a. He/She is **Scott Ellsworth** of **Line-Tec Inc**, the Bidder/Proposer that has submitted a Bid/Proposal to perform work for the following:

Solicitation No.: **2018-050** Title: **Water Service Connections and Restoration**

- b. He/She is fully informed respecting the preparation and contents of the attached solicitation, and of all pertinent circumstances respecting such solicitation.

Such Bid/Proposal is genuine and is not a collusive or sham Bid/Proposal.

- c. Neither the said Bidder/Proposer nor any of its officers, partners, owners, agents, representatives, employees, or parties in interest, including this affiant, has in any way colluded, conspired, connived, or agreed, directly or indirectly, with any other Bidder/Proposer, firm, or person to submit a collusive or sham Bid/Proposal in connection with the solicitation and contract for which the attached Bid/Proposal has been submitted or to refrain from proposing in connection with such solicitation and contract, or has in any manner, directly or indirectly, sought by agreement or collusion or communication or conference with any other Bidder/Proposer, firm, or person to fix the price or prices in the attached Bid/Proposal or any other Bidder/Proposer, or to fix any overhead, profit, or cost element of the Bid/Proposal price or the Bid/Proposal price of any other Bidder/Proposer, or to secure through any collusion, conspiracy, connivance, or unlawful agreement any advantage against the City or any person interested in the proposed contract.

- d. The price or prices quoted in the attached Bid/Proposal are fair and proper and are not tainted by any collusion, conspiracy, connivance, or unlawful agreement on the part of the Bidder/Proposer or any of its agents, representatives, owners, employees, or parties in interest, including this affiant.

Scott Ellsworth

Signature

Subscribed and sworn to (or affirmed) before me this **17** day of **September** **2018** by **Scott Ellsworth**, who is personally known to me or who has produced **Susan Caudell** as identification.

SEAL

Notary Signature: **Susan Caudell**

Notary Name: **Susan Caudell**

Notary Public (State): **FL**

My Commission No: **FF949881**

Expires on: **2/08/2020**

Supplier: Line-Tec Inc

SOLICITATION SUMMARY

IMPORTANT NOTICE

The information you provide on this page may be read aloud at the PUBLIC OPENING for this Solicitation. It is VERY IMPORTANT that the summary information you provide below is exactly the same information contained in your Bid. If subsequent to the opening of Bids/Proposals, the City determines that the information contained in the electronic version of your Bid/Proposal is different from the information on this Solicitation Summary, the City reserves the right to deem your Bid/Proposal NON-RESPONSIVE and remove your Bid/Proposal from further evaluation and consideration for contract award.

BID INFORMATION

Solicitation Number:	2018-050
Title:	Water Service Connections and Restoration
Due Date and Time:	09/19/2018
Name of Bidder/Proposer:	Line-Tec Inc
Address	241 NW 18th Avenue
Contact Person	Scott Ellsworth
Bid/Proposal Amount (if applicable):	
Authorized Signature:	Scott Ellsworth
Date:	09/17/2018

By signing and submitting this Solicitation Summary, the Bidder/Proposer affirms that the information provided above is an exact and correct summary of the information contained in the electronic version of the Bidder's/Proposer's Bid/Proposal to the City of Delray Beach.

THIS SOLICITATION SUMMARY MUST BE SIGNED AND INCLUDED AS AN ORIGINAL HARDCOPY IN THE SEALED PACKAGE CONTAINING YOUR BID/PROPOSAL OR SIGNED AND INCLUDED WITH YOUR SECURE ELECTRONIC BID/PROPOSAL SUBMITTAL THROUGH WWW.BIDSYNC.COM.

R^M Service Solutions, LLC

Bid Contact **Russell Jackson**
mgeorge@r-mservice.net
Ph 626-529-6024

Address **7256 West Port Place, Suite A**
West Palm Beach, FL 33413

Item #	Line Item	Notes	Unit Price	Qty/Unit	Attch. Docs
2018-050--01-01	General:Furnish and Install Water Service Connection from City Installed Meter to House				No Bids
2018-050--01-02	General:Furnish and Install 1 Schedule 40 PVC Water Pipe and Sod Restoration Over Trench				No Bids
2018-050--01-03	General:Furnish and Install 2 Corporation Stop and Saddle/Less than 4 in depth				No Bids
2018-050--01-04	General:Furnish and Install 2 Service Line with PVC casing				No Bids
2018-050--01-05	General:Terminate/Abandon Existing Water Service				No Bids
2018-050--01-06	General:Furnish and Install 6 Gate Valve with Box				No Bids
2018-050--01-07	General:Furnish and Install 6 DIP Water Main (Installed with Fittings)				No Bids
2018-050--01-08	General:Installation of Fire Hydrant Assembly with 6 Gate Valve Complete				No Bids
2018-050--01-09	General:Installation of Sample Points				No Bids
2018-050--01-10	General:Installation of Tapping Sleeves and Valves (Non-Paved Area)				No Bids
2018-050--01-11	General:Installation of Tapping Sleeves and Valves (Paved Area)				No Bids
2018-050--01-12	General:Installation or Replacement of 1 Meter Box and Lid				No Bids
2018-050--01-13	General:Replacement of a 1 Meter Lid				No Bids
2018-050--01-14	General:Replacement of a 1 Meter Box				No Bids
2018-050--01-15	General:Installation of 2 Meter Box and Lid				No Bids
2018-050--01-16	General:Replacement of 2 Meter Lid				No Bids
2018-050--01-17	General:Replacement of 2 Meter Box				No Bids
2018-050--01-18	General:Installation of an MIU Only				No Bids
2018-050--01-19	General:Installation of an MIU and a Register Exchange				No Bids

2018-050--01-20	General:Replacement of a 3/4 and 1 Register	No Bids
2018-050--01-21	General:Replacement of a 1 1/2 & 2 Register	No Bids
2018-050--01-22	General:Replacement of a Register 3, 4, 6, 8, 10, or 12 Register	No Bids
2018-050--01-23	General:Revisit of Failed Read Due to Outside Factors	No Bids
2018-050--01-24	General:Removal or Replacement of 3/4 Riser	No Bids
2018-050--01-25	General:Removal or Replacement of 1 Riser	No Bids
2018-050--01-26	General:Installation or Replacement of 3/4 Water Meter	No Bids
2018-050--01-27	General:Installation or Replacement of 1 Water Meter	No Bids
2018-050--01-28	General:Installation or Replacement of 1 1/2 Water Meter	No Bids
2018-050--01-29	General:Installation or Replacement of 2 Water Meter	No Bids
2018-050--01-30	General:Installation or Replacement of 3 Water Meter	No Bids
2018-050--01-31	General:Installation or Replacement of 4 Water Meter	No Bids
2018-050--01-32	General:Installation or Replacement of 6 Water Meter	No Bids
2018-050--01-33	General:Installation or Replacement of 8 Water Meter	No Bids
2018-050--01-34	General:Installation or Replacement of 10 Water Meter	No Bids
2018-050--01-35	General:Installation or Replacement of 12 Water Meter	No Bids
2018-050--01-36	General:Installation of 1 1/2 or 2 Custom Setter	No Bids
2018-050--01-37	General:Additional Cost for Hand Digging Trench	No Bids
2018-050--01-38	General:Additional Cost for Restoration of Asphalt Driveways	No Bids
2018-050--01-39	General:Additional Cost for Restoration of Concrete Driveways/Sidewalk	No Bids
2018-050--01-40	General:Hourly Rates for Personnel Not Otherwise Identified	No Bids

2018-050--01-41	General:Hourly Rate for Trencher	No Bids
2018-050--01-42	General:Hourly Rate for Backhoe	No Bids
2018-050--01-43	General:Hourly Rate for Boring Machine	No Bids
2018-050--01-44	General:Additional Vegetative Restoration (Bidders cost plus percent; may require Bidder	No Bids

Lot Total \$0.00

Item #	Line Item	Notes	Unit Price	Qty/Unit	Attch. Docs
2018-050--02-01	Residential Water Service:Furnish and Install 1 1/4" SCH 40 PVC Water Service Pipe				No Bids
2018-050--02-02	Residential Water Service:Furnish and Install 1 1/2" SCH 40 PVC Water Service Pipe				No Bids
2018-050--02-03	Residential Water Service:Furnish and Install 2" SCH 40 PVC Water Service Pipe				No Bids
2018-050--02-04	Residential Water Service:Reconnect Existing Sprinkler Connection at House				No Bids
2018-050--02-05	Residential Water Service:Installation of New Hose Bib				No Bids
2018-050--02-06	Residential Water Service:Replacement of House Isolation Valve				No Bids
2018-050--02-07	Residential Water Service:Installation of Vacuum Breaker on hose bib				No Bids
2018-050--02-08	Residential Water Service:Relocate Existing 3/4" or 1" RPZ backflow				No Bids
2018-050--02-09	Residential Water Service:Relocate Existing 1 1/2" or 2" RPZ backflow				No Bids

Lot Total \$0.00

Item #	Line Item	Notes	Unit Price	Qty/Unit	Attch. Docs
2018-050--03-01	Water Service:Furnish and Install 1" Corporation Stop and Saddle Less Than 4" in Depth				No Bids
2018-050--03-02	Water Service:Furnish and Install 1 1/2" Corporation Stop and Saddle Less Than 4" in Depth				No Bids
2018-050--03-03	Water Service:Installation of 2" RS Gate Valve and Saddle, Complete with Valve Box				No Bids
2018-050--03-04	Water Service:Installation of 2" P.E. Service Line without Casing for Short Side				No Bids

2018-050--03-05	Water Service:Installation of 1½ P.E. Service Line without Casing for Short Side	No Bids
2018-050--03-06	Water Service:Installation of 1½ P.E. Service Line with Casing for Short Side	No Bids
2018-050--03-07	Water Service:Installation of 1½ Ball Meter, Yoke Bar and Tail Piece	No Bids
2018-050--03-08	Water Service:Installation of 1 1/2½ Ball Meter, Yoke Bar and Tail Piece	No Bids
2018-050--03-09	Water Service:Installation of 2½ Ball Meter, Yoke Bar and Tail Piece	No Bids

Lot Total \$0.00

Item #	Line Item	Notes	Unit Price	Qty/Unit	Atch.	Docs
2018-050--04-01	Water Main:Installation of 4" C900 PVC with Fittings				No Bids	
2018-050--04-02	Water Main:Installation of 6" C900 PVC with Fittings				No Bids	
2018-050--04-03	Water Main:Installation of 8" C900 PVC with Fittings				No Bids	
2018-050--04-04	Water Main:Installation of 4" CL350 DI with Fittings				No Bids	
2018-050--04-05	Water Main:Installation of 8" CL350 DI with Fittings				No Bids	
2018-050--04-06	Water Main:Installation of Fire Hydrant with Materials				No Bids	
2018-050--04-07	Water Main:Installation of 2 Blow Off Assembly				No Bids	
2018-050--04-08	Water Main:Installation of 4 Gate Valve with Box				No Bids	
2018-050--04-09	Water Main:Installation of 8 Gate Valve with Box				No Bids	
2018-050--04-10	Water Main:Density Testing, Cost per Site				No Bids	
2018-050--04-11	Water Main:Proctor Testing, Cost per Site				No Bids	
2018-050--04-12	Water Main:Restoration of Asphalt Roadway w/6 Rock/1 1/2 Asphalt (Greater than 100 SQ FT)				No Bids	
2018-050--04-13	Water Main:Restoration of Asphalt Roadway w/6 Rock/1 1/2 Asphalt (Up to 100 SQ FT)				No Bids	
2018-050--04-14	Water Main:Engineering Fees (Bidders cost plus percent; may require Bidders				No Bids	

invoice for ver

Lot Total \$0.00

Item #	Line Item	Notes	Unit Price	Qty/Unit	Attch.	Docs
2018-050--05-01	Reuse Water Service:Furnish and Install 1 SCH 40 PVC Reuse (Purple) Service Pipe					No Bids
2018-050--05-02	Reuse Water Service:Furnish and Install 1-1/4 SCH 40 PVC Reuse (Purple) Service Pipe					No Bids
2018-050--05-03	Reuse Water Service:Furnish and Install 1 1/2 SCH 40 PVC Reuse (Purple) Service Pipe					No Bids
2018-050--05-04	Reuse Water Service:Furnish and Install 2 SCH 40 PVC Reuse (Purple) Service Pipe					No Bids
2018-050--05-05	Reuse Water Service:Reconnect Existing Sprinkler Connection at the House					No Bids
2018-050--05-06	Reuse Water Service:Installation of New Hose Bib Marked Reuse					No Bids
2018-050--05-07	Reuse Water Service:Installation of 5/8 or 3/4 Check Valve on House Line					No Bids
2018-050--05-08	Reuse Water Service:Installation of 1 Check Valve on House Line					No Bids
2018-050--05-09	Reuse Water Service:Installation of 1- 1/4 Check Valve on House Line					No Bids
2018-050--05-10	Reuse Water Service:Installation of 1 1/2 Check Valve on House Line					No Bids
2018-050--05-11	Reuse Water Service:Installation of 2 Check Valve on House Line					No Bids

Lot Total \$0.00

Item #	Line Item	Notes	Unit Price	Qty/Unit	Attch.	Docs
2018-050--06-01	Water Meter and Backflow Service:Installation of 5/8 or 3/4 Check Valve on Customers Line					No Bids
2018-050--06-02	Water Meter and Backflow Service:Installation of 1 Check Valve on Customers Line					No Bids
2018-050--06-03	Water Meter and Backflow Service:Installation of 1-1/4 Check Valve on Customers Line					No Bids
2018-050--06-04	Water Meter and Backflow Service:Installation of 1 1/2 Check Valve on Customers Line					No Bids
2018-050--06-05	Water Meter and Backflow					No Bids

Service:Installation of 2 Check Valve on Customers Line		
2018-050--06-06	Water Meter and Backflow Service:Installation of 3/4 - 1 RPZ Backflow	No Bids
2018-050--06-07	Water Meter and Backflow Service:Installation of 1 1/2 - 2 RPZ Backflow	No Bids
2018-050--06-08	Water Meter and Backflow Service:Testing New or Existing RPZ Backflow 3/4 - 1	No Bids
2018-050--06-09	Water Meter and Backflow Service:Testing New or Existing RPZ Backflow 1-1/4 - 2	No Bids
2018-050--06-10	Water Meter and Backflow Service:Repair Existing 3/4-2 Backflow	No Bids
2018-050--06-11	Water Meter and Backflow Service:Backflow Repair Parts Not Otherwise Identified (Bidders cost plus percent; may r	No Bids

Lot Total \$0.00

Item #	Line Item	Notes	Unit Price	Qty/Unit	Attch.	Docs
2018-050--07-01	Directional Pipe Boring:1/2 - 1 Schedule 40 PVC Casing Pipe Directional Boring				No Bids	
2018-050--07-02	Directional Pipe Boring:1-1/4 - 1 1/2 SCH 40 PVC Casing Pipe Directional Boring				No Bids	
2018-050--07-03	Directional Pipe Boring:2 SCH 40 PVC Casing Pipe Directional Boring				No Bids	
2018-050--07-04	Directional Pipe Boring:2 1/2 SCH 40 PVC Casing Pipe Directional Boring				No Bids	
2018-050--07-05	Directional Pipe Boring:3 SCH 40 PVC Casing Pipe Directional Boring				No Bids	
2018-050--07-06	Directional Pipe Boring:Pot Holding To Locate Existing Utilities				No Bids	
2018-050--07-07	Directional Pipe Boring:Additional Cost Per Foot For Schedule 80 Pipe Item # 94-98.				No Bids	

Lot Total \$0.00

Item #	Line Item	Notes	Unit Price	Qty/Unit	Attch.	Docs
2018-050--08-01	Fire Hydrant Maintenane and Repair: Fire Hydrant Flush (Only)	Supplier Product Code:	First Offer - \$21.00	3000 / each	\$63,000.00	Y

2018-050--08-02	Fire Hydrant Maintenane and Repair: Fire Hydrant Flow Test, Pressure Test and Nozzle Lubrication	Supplier Product Code:	First Offer - \$37.50	3000 / each	\$112,500.00	Y
2018-050--08-03	Fire Hydrant Maintenane and Repair: Additional Cost for Fire Hydrant Flowtest W/Residual Test	Supplier Product Code:	First Offer - \$59.00	3000 / each	\$177,000.00	Y
2018-050--08-04	Fire Hydrant Maintenane and Repair: Fire Hydrant Audit (Includes Audit, Maintenance of Hydrant Only)	Supplier Product Code:	First Offer - \$48.00	3000 / each	\$144,000.00	Y
2018-050--08-05	Fire Hydrant Maintenane and Repair: Fire Hydrant Painting, Wire and Scrape	Supplier Product Code:	First Offer - \$36.50	3000 / each	\$109,500.00	Y
2018-050--08-06	Fire Hydrant Maintenane and Repair: Painting of Fire Hydrant Bollards	Supplier Product Code:	First Offer - \$10.00	100 / each	\$1,000.00	Y
2018-050--08-07	Fire Hydrant Maintenane and Repair: Upper Barrel Repair on Existing Fire Hydrant	Supplier Product Code:	First Offer - \$300.00	50 / each	\$15,000.00	Y
2018-050--08-08	Fire Hydrant Maintenane and Repair: Lower Barrel Repair on Existing Fire	Supplier Product Code:	First Offer - \$700.00	10 / each	\$7,000.00	Y

Hydrant							
2018-050--08-09	Fire Hydrant Maintenane and Repair: Installation of Traffic Repair Kit	Supplier Product Code:	First Offer - \$700.00	25 / each	\$17,500.00		Y
2018-050--08-10	Fire Hydrant Maintenane and Repair: Installation of 6 Fire Hydrant Extension	Supplier Product Code:	First Offer - \$750.00	5 / each	\$3,750.00		Y
2018-050--08-11	Fire Hydrant Maintenane and Repair: Installation of 12 Fire Hydrant Extension	Supplier Product Code:	First Offer - \$825.00	5 / each	\$4,125.00		Y
2018-050--08-12	Fire Hydrant Maintenane and Repair: Installation of 18 Fire Hydrant Extension	Supplier Product Code:	First Offer - \$900.00	5 / each	\$4,500.00		Y
2018-050--08-13	Fire Hydrant Maintenane and Repair: Installation of 24 Fire Hydrant Extension	Supplier Product Code:	First Offer - \$1,000.00	5 / each	\$5,000.00		Y
2018-050--08-14	Fire Hydrant Maintenane and Repair: Installation of Blue Reflective Road Marker	Supplier Product Code:	First Offer - \$9.00	2000 / each	\$18,000.00		Y
2018-050--08-15	Fire Hydrant Maintenane and Repair: Installation of Metal Hydrant ID Tag	Supplier Product Code:	First Offer - \$9.00	3000 / each	\$27,000.00		Y
2018-050--08-16	Fire Hydrant Maintenane	Supplier Product	First Offer - \$25.00	3000 / each	\$75,000.00		Y

	and Repair: Installation of Fire Hydrant Security System	Code:				
2018-050--08-17	Fire Hydrant Maintenane and Repair: Installation of Fire Hydrant Security System with Flow Test	Supplier Product Code:	First Offer - \$49.00	3000 / each	\$147,000.00	Y
2018-050--08-18	Fire Hydrant Maintenane and Repair: Installation of Fire Hydrant Security System	Supplier Product Code:	First Offer - \$200.00	100 / each	\$20,000.00	Y
2018-050--08-19	Fire Hydrant Maintenane and Repair: Installation of 6 Inline Fire Hydrant Check Valve	Supplier Product Code:	First Offer - \$5,000.00	10 / each	\$50,000.00	Y
2018-050--08-20	Fire Hydrant Maintenane and Repair: Hydrant Materials Not Otherwise Identified (Bidders cost plus percent; may requi	Supplier Product Code:	First Offer - \$20.00	1 / each	\$20.00	Y
2018-050--08-21	Fire Hydrant Maintenane and Repair: Replacement of Existing Fire Hydrant Utilizing Existing Isolation Valve	Supplier Product Code:	First Offer - \$5,000.00	25 / each	\$125,000.00	Y
2018-050--08-22	Fire Hydrant Maintenane and Repair: Relocation of Existing Fire	Supplier Product Code:	First Offer - \$5,500.00	10 / each	\$55,000.00	Y

Hydrant
Utilizing
Existing
Isolation
Valve

Lot Total \$1,180,895.00

Item #	Line Item	Notes	Unit Price	Qty/Unit	Attch. Docs
2018-050--09-01	Valve	Supplier Product Code:	First Offer - \$41.00	8600 / each	Y
	Maintenance and Repair: Valve Audit (Includes Audit, Maintenance, Valve Exercise)				
2018-050--09-02	Valve	Supplier Product Code:	First Offer - \$12.00	8600 / each	Y
	Maintenance and Repair: Valve Tag (Brass)				
2018-050--09-03	Valve	Supplier Product Code:	First Offer - \$38.00	1500 / each	Y
	Maintenance and Repair: Valve Exercise Only (No Audit)				
2018-050--09-04	Valve	Supplier Product Code:	First Offer - \$250.00	250 / each	Y
	Maintenance and Repair: Install New Valve Box in Grass Area				
2018-050--09-05	Valve	Supplier Product Code:	First Offer - \$500.00	150 / each	Y
	Maintenance and Repair: Install New Valve Box in Asphalt				
2018-050--09-06	Valve	Supplier Product Code:	First Offer - \$75.00	500 / each	Y
	Maintenance and Repair: Raise Valve Box in Grass Area				
2018-050--09-07	Valve	Supplier Product Code:	First Offer - \$495.00	75 / each	Y
	Maintenance and Repair: Raise Valve Box in Asphalt				

2018-050--09-08	Valve Maintenance and Repair: Installation of Valve Box Riser 1 - 2	Supplier Product Code:	First Offer - \$50.00	100 / each	\$5,000.00	Y
2018-050--09-09	Valve Maintenance and Repair: Installation of Concrete Valve Pad	Supplier Product Code:	First Offer - \$125.00	100 / each	\$12,500.00	Y
2018-050--09-10	Valve Maintenance and Repair: Asphalt Patch Around Existing Valve Box	Supplier Product Code:	First Offer - \$375.00	150 / each	\$56,250.00	Y
2018-050--09-11	Valve Maintenance and Repair: Vacuum Out Debris From Valve Box	Supplier Product Code:	First Offer - \$8.00	8600 / each	\$68,800.00	Y
2018-050--09-12	Valve Maintenance and Repair: Excavation of a Depth of Less Than 4	Supplier Product Code:	First Offer - \$3,550.00	250 / each	\$887,500.00	Y
2018-050--09-13	Valve Maintenance and Repair: Excavation of a Depth of 4 to 7 Without Wellpoints	Supplier Product Code:	First Offer - \$4,000.00	100 / each	\$400,000.00	Y
					Lot Total	\$2,154,975.00
Item #	Line Item	Notes	Unit Price	Qty/Unit	Attch.	Docs
2018-050--10-01	Emergency Repair, Equipment, and Restoration: Hourly Rate for Superintendent	Supplier Product Code:	First Offer - \$150.00	250 / each	\$37,500.00	Y
2018-050--10-02	Emergency Repair, Equipment, and Restoration:	Supplier Product Code:	First Offer - \$125.00	250 / each	\$31,250.00	Y

Hourly Rate for Foreman							
2018-050--10-03	Emergency Repair, Equipment, and Restoration: Hourly Rate for Pipe Layer	Supplier Product Code:	First Offer - \$85.00	250 / each	\$21,250.00	Y	
2018-050--10-04	Emergency Repair, Equipment, and Restoration: Hourly Rate for Plate Compactor	Supplier Product Code:	First Offer - \$45.00	50 / each	\$2,250.00	Y	
2018-050--10-05	Emergency Repair, Equipment, and Restoration: Hourly Rate for 3½ Pump	Supplier Product Code:	First Offer - \$45.00	50 / each	\$2,250.00	Y	
2018-050--10-06	Emergency Repair, Equipment, and Restoration: Hourly Rate for Valve Excise Machine with Vacuum	Supplier Product Code:	First Offer - \$100.00	500 / each	\$50,000.00	Y	
2018-050--10-07	Emergency Repair, Equipment, and Restoration: Hourly Rate for Utility Truck	Supplier Product Code:	First Offer - \$50.00	500 / each	\$25,000.00	Y	
2018-050--10-08	Emergency Repair, Equipment, and Restoration: Hourly Rate for Excavator	Supplier Product Code:	First Offer - \$300.00	100 / each	\$30,000.00	Y	
2018-050--10-09	Emergency Repair, Equipment, and Restoration: Hourly Rate for Skidsteer	Supplier Product Code:	First Offer - \$200.00	100 / each	\$20,000.00	Y	
2018-050--10-10	Emergency Repair, Equipment, and Restoration:	Supplier Product Code:	First Offer - \$1.25	5000 / square foot	\$6,250.00	Y	

Sod Restoration						
2018-050--10-11	Emergency Repair, Equipment, and Restoration: Traffic Cones	Supplier Product Code:	First Offer - \$2.00	250 / each	\$500.00	Y
2018-050--10-12	Emergency Repair, Equipment, and Restoration: Type I,II,III Barricades	Supplier Product Code:	First Offer - \$10.00	100 / each	\$1,000.00	Y
2018-050--10-13	Emergency Repair, Equipment, and Restoration: Work Zone Signs	Supplier Product Code:	First Offer - \$10.00	50 / each	\$500.00	Y
2018-050--10-14	Emergency Repair, Equipment, and Restoration: Arrow Board	Supplier Product Code:	First Offer - \$75.00	10 / each	\$750.00	Y
2018-050--10-15	Emergency Repair, Equipment, and Restoration: Materials Not Otherwise Identified (Bidders cost plus percent; may require Bidde	Supplier Product Code:	First Offer - \$20.00	1 / each	\$20.00	Y
Lot Total					\$228,520.00	

Supplier: R^M Service Solutions, LLC

BID/PROPOSAL SUBMITTAL

This form is part of your original Bid/Proposal submittal package. Please also attach any additional information or documentation requested in this solicitation. There is no need to include the informational sections of this solicitation in your Bid/Proposal submittal package.

INSTRUCTIONS

Sealed Bids/Proposals must be received on or before the due date and time (local time) via electronic submission at www.bidsync.com, or via hard copy at the City of Delray Beach City Hall Front Lobby Reception Desk, 100 N.W. 1st Avenue, Delray Beach, Florida 33444. Normal City business hours are 8:00 AM to 5:00 PM, Monday through Friday, except holidays. **All Bids/Proposals will be publicly opened** at City Hall unless otherwise specified.

Each hard copy Bid/Proposal submitted to the City shall have the following information clearly marked on the face of the envelope: Bidder's/Proposer's name, return address, solicitation number, due date for Bids/Proposals, and the title of the solicitation. If the Solicitation Summary is not included in the package, the City may deem the Bid/Proposal non-responsive. Bids/Proposals must contain all information required to be included in the submittal, as described in this Solicitation.

Solicitation No.: **2018-050**

Solicitation Title: **Water Service Connections and Restoration**

Due Date and Time: **SEPT. 19 2018 2:00PM**

mgeorge@r-mservice.net

Name of Bidder/Proposer

Supplier: R^M Service Solutions, LLC

ACKNOWLEDEMENT OF ADDENDA

INSTRUCTIONS COMPLET PART I OR PART II, WHICHEVER APPLIES

PART I

List below that dates of issue for addendum received in connection with this solicitation.

Addendum #1, Dated

Addendum #2, Dated

Addendum #3, Dated

Addendum #4, Dated

Addendum #5, Dated

Addendum #6, Dated

Addendum #7, Dated

Addendum #8, Dated

Addendum #9, Dated

Addendum #10, Dated

PART II

NO ADDENDUM WAS RECEIVE IN CONNECTION WITH THE SOLICATION

R&M Service Solutions

Frim Name

Mike George

Signature

Mike George Operations Manager

Name and Title

mgeorge@r-mservice.net

Date

Supplier: R^M Service Solutions, LLC

SUBMITTAL SIGNATURE PAGE

By signing this document, the Bidder/Proposer certifies that it satisfies all legal requirements as an entity to do business with the City, including all Conflict of Interest and Code of Ethics provisions.

Firm Name: **R&M Service Solutions**

Street Address: **7256 West Port PL**

Mailing Address (if different from Street Address):

Telephone Number(s): **3523989127**

Fax Number(s):

Email Address: **mgeorge@rmservicesolutions.com**

Federal Employer Identification Number: **27-1422665**

Prompt Payment Terms: **97% 15 days' net 30 days**

Signature: **Michael George**

(Signature of authorized agent)

Print Name: **Michael George**

Title: **Operations Manager**

Date: **9/18/2018**

By signing this document, the Bidder/Proposer agrees to all terms and conditions of this solicitation and the resulting contract/agreement.

THE EXECUTION OF THIS FORM CONSTITUTES THE UNEQUIVOCAL OFFER OF BIDDER/PROPOSER TO BE BOUND BY THE TERMS OF ITS BID/PROPOSAL, FOR NOT LESS THAN 90 DAYS, AND THE BIDDER'S/PROPOSER'S UNEQUIVOCAL OFFER TO BE BOUND BY THE TERMS AND CONDITIONS SET FORTH IN THIS SOLICITATION. FAILURE TO SIGN THIS SOLICITATION WHERE INDICATED ABOVE, BY AN AUTHORIZED REPRESENTATIVE, SHALL RENDER THE BID/PROPOSAL NON-RESPONSIVE. THE CITY MAY, HOWEVER, IN ITS SOLE DISCRETION, ACCEPT ANY BID/PROPOSAL THAT INCLUDES AN EXECUTED DOCUMENT WHICH UNEQUIVOCALLY BINDS THE BIDDER/PROPOSER TO THE TERMS OF ITS BID/PROPOSAL.

Supplier: R^M Service Solutions, LLC

CONFLICT OF INTEREST DISCLOSURE FORM

The award of this contract is subject to the provisions of Chapter 112, *Florida Statutes*. All Bidders/Proposers must disclose within their Bid/Proposal: the name of any officer, director, or agent who is also an employee of the City of Delray Beach.

Furthermore, all Bidders/Proposers must disclose the name of any City employee who owns, directly or indirectly, an interest of more than five percent (5%) in the Bidder's/Proposer's firm or any of its branches.

The purpose of this disclosure form is to give the City the information needed to identify potential conflicts of interest for evaluation team members and other key personnel involved in the award of this contract.

The term "conflict of interest" refers to situations in which financial or other personal considerations may adversely affect, or have the appearance of adversely affecting, an employee's professional judgment in exercising any City duty or responsibility in administration, management, instruction, research, or other professional activities.

Please check one of the following statements and attach additional documentation if necessary:

- To the best of our knowledge, the undersigned firm has no potential conflict of interest due to any other Cities, Counties, contracts, or property interest for this Bid/Proposal.
- The undersigned firm, by attachment to this form, submits information which may be a potential conflict of interest due to other Cities, Counties, contracts, or property interest for this Bid/Proposal.

Acknowledged by:

MICHAEL GEORGE

Firm Name

Mike George

Signature

R&M Service Solutions

Name and Title

mgeorge@r-mservice.net

Date

Supplier: R^M Service Solutions, LLC

NOTIFICATION OF PUBLIC ENTITY CRIMES LAW

Pursuant to Section 287.133, *Florida Statutes*, you are hereby notified that a person or affiliate who has been placed on the convicted contractors list following a conviction for a public entity crime may not submit a Bid/Proposal on a contract to provide any goods or services to a public entity; may not submit a Bid/Proposal on a contract with a public entity for the construction or repair of a public building or public work; may not submit Bids/Proposals on leases or real property to a public entity; may not be awarded or perform work as a contractor, supplier, sub-Bidder/sub-Proposer, or consultant under a contract with any public entity; and may not transact business with any public entity in excess of the threshold amount provided in Section 287.017 [F.S.] for Category Two [\$35,000.00] for a period of thirty-six (36) months from the date of being placed on the convicted contractors list.

Acknowledged by:

Firm Name

Signature

Name and Title

mgeorge@r-mservice.net

Date

Supplier: R^M Service Solutions, LLC

Notification of Public Records Law Pertaining to Public Contracts and Requests for Contractor Records Pursuant to Chapter 119, *Florida Statutes*

Pursuant to Chapter 119, *Florida Statutes*, Contractor shall comply with the public records law by keeping and maintaining public records required by the City of Delray Beach in order to perform the service. Upon request from the City of Delray Beach' custodian of public records, contract shall provide the City of Delray Beach with a copy of the requested records or allow the records to be inspected or copied within a reasonable time at a cost that does not exceed the cost provided in Chapter 119, *Florida Statutes* or as otherwise provided by law. Contractor shall ensure that public records that are exempt or confidential and exempt from public records disclosure requirements are not disclosed except as authorized by law for the duration of the contract term and following completion of the contract. If the Contractor does not transfer the records to the City of Delray Beach. Contractor upon completion of the contract, shall transfer, at no cost, to the City of Delray Beach all public records in possession of the Contractor or keep and maintain public records required by the City of Delray Beach in order to perform the service. If the Contractor transfers all public records to the City of Delray Beach upon completion of the contract, the Contractor shall destroy any duplicate public records that are exempt or confidential and exempt from public records disclosure requirements. If the Contractor keeps and maintains public records upon completion of the contract, the Contractor shall meet all applicable requirements for retaining public records. All records stored electronically must be provided to the City of Delray Beach, upon request from the City of Delray Beach' custodian of public records, in a format that is compatible with the information technology systems of the City of Delray Beach.

IF THE SELECTED BIDDER/PROPOSER HAS QUESTIONS REGARDING THE APPLICATION OF CHAPTER 119, FLORIDA STATUTES, TO THE SELECTED BIDDER'S/PROPOSER'S DUTY TO PROVIDE PUBLIC RECORDS RELATING TO THIS AGREEMENT, CONTACT THE CUSTODIAN OF PUBLIC RECORDS AT CITY OF DELRAY BEACH, CITY CLERK, 100 N.W. 1ST AVE., DELRAY BEACH FLORIDA. THE CITY CLERK'S OFFICE MAY BE CONTACTED BY PHONE AT 561-243-7050 OR VIA EMAIL AT CITYCLERK@MYDELRAYBEACH.COM.

Acknowledged:

MICHAEL GEORGE

Firm Name

Mike George

Signature

R&M Service Solutions

Name and Title (Print or Type)

mgeorge@r-mservice.net

Date

Supplier: R^M Service Solutions, LLC

DRUG-FREE WORKPLACE

R&M Service Solutions is a drug-free workplace and has
(Company Name)
a substance abuse policy in accordance with and pursuant to Section 440.102, *Florida Statutes*.

Acknowledged by:

Mike George

Firm Name

Mike George

Signature

MIKE GEORGE OPERATIONS MANAGER

Name and Title

mgeorge@r-mservice.net

Date

Supplier: R^M Service Solutions, LLC

NON-COLLUSION AFFIDAVIT

STATE OF **FLORIDA**

COUNTY OF **PASCO**

Before me, the undersigned authority, personally appeared **Michael George**, who, after being by me first duly sworn, deposes and says of his/her personal knowledge that:

- a. He/She is **Michael George** of **R&M SERVICE SOLUTIONS**, the Bidder/Proposer that has submitted a Bid/Proposal to perform work for the following:

Solicitation No.: **2018-050** Title: **WATER SERVICE CONNECTIONS AND RESTORATION**

- b. He/She is fully informed respecting the preparation and contents of the attached solicitation, and of all pertinent circumstances respecting such solicitation.

Such Bid/Proposal is genuine and is not a collusive or sham Bid/Proposal.

- c. Neither the said Bidder/Proposer nor any of its officers, partners, owners, agents, representatives, employees, or parties in interest, including this affiant, has in any way colluded, conspired, connived, or agreed, directly or indirectly, with any other Bidder/Proposer, firm, or person to submit a collusive or sham Bid/Proposal in connection with the solicitation and contract for which the attached Bid/Proposal has been submitted or to refrain from proposing in connection with such solicitation and contract, or has in any manner, directly or indirectly, sought by agreement or collusion or communication or conference with any other Bidder/Proposer, firm, or person to fix the price or prices in the attached Bid/Proposal or any other Bidder/Proposer, or to fix any overhead, profit, or cost element of the Bid/Proposal price or the Bid/Proposal price of any other Bidder/Proposer, or to secure through any collusion, conspiracy, connivance, or unlawful agreement any advantage against the City or any person interested in the proposed contract.

- d. The price or prices quoted in the attached Bid/Proposal are fair and proper and are not tainted by any collusion, conspiracy, connivance, or unlawful agreement on the part of the Bidder/Proposer or any of its agents, representatives, owners, employees, or parties in interest, including this affiant.

MICHAEL GEORGE

Signature

Subscribed and sworn to (or affirmed) before me this **19TH** day of **September 2018** by **Michael George**, who is personally known to me or who has produced as identification.

SEAL

Notary Signature: **Kimberly A. French**

Notary Name: **Kimberly A. French**

Notary Public (State): **FL**

My Commission No: **FF #227629**

Expires on: **6/27/2019**

Supplier: R^M Service Solutions, LLC

SOLICITATION SUMMARY

IMPORTANT NOTICE

The information you provide on this page may be read aloud at the PUBLIC OPENING for this Solicitation. It is VERY IMPORTANT that the summary information you provide below is exactly the same information contained in your Bid. If subsequent to the opening of Bids/Proposals, the City determines that the information contained in the electronic version of your Bid/Proposal is different from the information on this Solicitation Summary, the City reserves the right to deem your Bid/Proposal NON-RESPONSIVE and remove your Bid/Proposal from further evaluation and consideration for contract award.

BID INFORMATION

Solicitation Number: **22018-050**

Title: **WATER SERVICE CONNECTIONS AND RESTORATION**

Due Date and Time: **SEPT. 19 2018 2:00PM**

Name of Bidder/Proposer: **R&M SERVICE SOLUTIONS LLC**

Address **7256 WEST PORT PL**

Contact Person **MIKE GEORGE**

Bid/Proposal Amount (if applicable):

Authorized Signature: **MIKE GEORGE**

Date: **mgeorge@r-mservice.net**

By signing and submitting this Solicitation Summary, the Bidder/Proposer affirms that the information provided above is an exact and correct summary of the information contained in the electronic version of the Bidder's/Proposer's Bid/Proposal to the City of Delray Beach.

THIS SOLICITATION SUMMARY MUST BE SIGNED AND INCLUDED AS AN ORIGINAL HARDCOPY IN THE SEALED PACKAGE CONTAINING YOUR BID/PROPOSAL OR SIGNED AND INCLUDED WITH YOUR SECURE ELECTRONIC BID/PROPOSAL SUBMITTAL THROUGH WWW.BIDSYNC.COM.